A water tank in the shape of a right circular cone has a height of 10 feet. The top rim
of the tank is a circle with a radius of 4 feet. If water is being pumped into the tank at
the rate of 2 per m-lt&ute, what is the rate of change of the water depth, in
e —
\"

et per minute, when the_depth is 5 feet? (
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Curve Sketching (will return to related rates right before asssessment)

Four types of curvature
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What the first derivative tells you
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B ?3 Looin rer¥book

- domain

- horizontal asymptotes using limits (plot)
- vertical asymptotes using limits (plot)

- x-intercept, y-intercept (plot)

- intervals of increase and decrease

relative extrema (coordinates, plot them)

- inflection points (coordinates, plot them)

intervals of Conc. Up, Conc. Down

- Combine number lines to find 4 types of curves
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A2 with Calcwlntor:




Related Rates i
elated Rates , agam

In the diagram below, theta is increasing at a constant rate of 2 radians per minute. At what
rate is x increasing in units per minute when x is 3 units long?
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NS
Dyed salt water is being poured at a rate of 4000 cm® /'min into a fresh water tank forming a cylinder
whose radius and height are changing with time. When the cylinder is 400cm in diameter and 0.5 c¢m thick,

the radius is increasing at a rate of 1 cm,/min. How quickly is the thickness of the cylinder changing?
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